SPEC.

SECTION

1-09.7

1-07

1-07

1-09

1-10

1-10

1-10

1-10

2-01

2-01

2-03

2-12

3-04

5-04

5-04

5-04

5-04

7-01

7-01

7-04

7-04

7-05

7-05

7-05

2

3

5

10

11

12

13

14

15

16

17

18

19

20

21

22

23

24

25

26

27

28

29

31

32

33

34

35

36

37

38

39

SCHEDULE A - ROAD IMPROVEMENTS

MOBILIZATION

TRAINING

SPCC PLAN

RECORD DRAWINGS

FUEL COST ADJUSTMENT

TRAFFIC CONTROL SUPERVISOR

OTHER TRAFFIC CONTROL LABOR

CONSTRUCTION SIGNS CLASS A

PEDESTRIAN TRAFFIC CONTROL

CLEARING AND GRUBBING

HMA CL. 3/8 IN. PG 58H-22

HMA CL. 1/2 IN. PG 58H-22

ROADSIDE CLEANUP

WORK ZONE SAFETY CONTINGENCY

ROADWAY EXCAVATION INCL. HAUL

CRUSHED SURFACING BASE COURSE

PLANING BITUMINOUS PAVEMENT

ASPHALT COST PRICE ADJUSTMENT

INFILTRATION TRENCH A - 10 FT. WIDE

INFILTRATION TRENCH B - 9.5 FT. WIDE

INFILTRATION TRENCH C - 7.5 FT. WIDE

INFILTRATION TRENCH D - 6.5 FT. WIDE INFILTRATION TRENCH E - 3 FT. WIDE

DUCTILE IRON STORM SEWER PIPE 10 IN. DIAM.

CATCH BASIN TYPE 2 60 IN. DIAM. (TEE)

CONCRETE COMBINATION CURB INLET

STORM SEWER PIPE 10 IN. DIAM.

STORM SEWER PIPE 12 IN. DIAM.

PRECAST CONCRETE DRYWELL

CATCH BASIN TYPE 1

COMBINATION INLET

FLAGGERS (Minimum Bid of \$40.00 per Hour)

PORTABLE CHANGEABLE MESSAGE SIGN

OTHER TEMPORARY TRAFFIC CONTROL DEVICES

REMOVAL OF STRUCTURES AND OBSTRUCTIONS

CONSTRUCTION GEOTEXTILE FOR SEPARATION

AGGREGATE COMPLIANCE PRICE ADJUSTMENT

REIMBURSEMENT FOR THIRD PARTY DAMAGE

TYPE B PROGRESS SCHEDULE(Minimum Bid of \$7,500.00 Lump Sum)

#### BID TABULATION Clark County Public Works - Engineering and Construction Division Clark County, Washington

Project Name: NE 152nd Avenue (Padden Parkway - NE 99th Street)

Project Number: PRJ0000586 (CRP 301022)

Bid Opening Date: September 23, 2025

DESCRIPTION

UNIT QUANTITY

1

1

1180

1

1

1

1

1

6600

1040

1500

480

1

1

1.5

1

1

10210

21170

1

5290

3280

6510

990

1

460

784

1734

64

911

477 36

1

9

27

41

9

L.S.

HOUR

EST.

L.S.

L.S.

CALC

L.S.

HOUR

HOUR

HOUR

L.S.

L.S.

**ACRE** 

EST.

C.Y.

S.Y.

CALC

TON

S.Y.

CALC

L.F.

L.F.

L.F.

**EACH** 

EACH

EACH

EACH

EACH

ENGINEER'S ESTIMATE			BIDE	DER #1	BIDE	DER #2	BIDI	DER #3	BIDE	DER #4	BIDDER #5		
			-	os. Excavating,	Rotsc	hy, Inc.		ed Civil Group,	Active Cons	struction, Inc.	Tapani Inc.		
				nc. ourth Plain Rd		113th Cir		LC Box 236		ver Rd. E	705 SE 9th Avenue/PO Box 190		
			Vancouver, V	NA 98682-9676	Vancouver, V	VA 98662-2351	Yacolt, WA	A 98675-0399	Tacoma, W	A 98443-2638	Battle Grou	nd, WA 98604	
			(360) 2	254-7056	(360) 3	334-3100	(360) 3	309-7114		48-1091	360-6	87-1148	
Y	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	
	\$804,420.00	\$804,420.00	\$371,000.00	\$371,000.00	\$523,487.00	\$523,487.00	\$720,000.00	\$720,000.00	\$643,529.39	\$643,529.39	\$725,000.00	\$725,000.00	
	\$2,500.00	\$2,500.00	\$5,000.00	\$5,000.00	\$1,611.00	\$1,611.00	\$850.00	\$850.00		\$150.00		\$2,500.00	
	\$30.00	\$35,400.00	\$5.00	\$5,900.00	\$16.00	\$18,880.00	\$75.00	\$88,500.00	\$1.00	\$1,180.00	\$10.00	\$11,800.00	
	\$5.00	\$5.00	\$5.00	\$5.00	\$5.00	\$5.00	\$5.00	\$5.00	\$5.00	\$5.00	\$5.00	\$5.00	
	\$1,000.00	\$1,000.00	\$2,500.00	\$2,500.00	\$367.00	\$367.00	\$1,000.00	\$1,000.00	\$150.00	\$150.00	\$1,000.00	\$1,000.00	
	\$7,500.00	\$7,500.00	\$7,500.00	\$7,500.00	\$7,500.00	\$7,500.00	\$5,000.00	\$5,000.00	\$7,500.00	\$7,500.00	\$7,500.00	\$7,500.00	
	\$13,740.00	\$13,740.00	\$13,740.00	\$13,740.00	\$13,740.00	\$13,740.00	\$13,740.00	\$13,740.00	\$13,740.00	\$13,740.00	\$13,740.00	\$13,740.00	
	\$68,640.00	\$68,640.00	\$13,000.00	\$13,000.00	\$70,000.00	\$70,000.00	\$78,000.00	\$78,000.00	\$60,000.00	\$60,000.00	\$25,000.00	\$25,000.00	
	\$80.00	\$528,000.00	\$76.00	\$501,600.00	\$69.00	\$455,400.00	\$65.00	\$429,000.00	\$70.00	\$462,000.00	\$40.00	\$264,000.00	
	\$80.00	\$83,200.00	\$67.00	\$69,680.00	\$69.00	\$71,760.00	\$65.00	\$67,600.00	\$68.00	\$70,720.00	\$40.00	\$41,600.00	
	\$40.00	\$60,000.00	\$26.00	\$39,000.00	\$5.00	\$7,500.00	\$3.00	\$4,500.00	\$17.00	\$25,500.00	\$15.00	\$22,500.00	
	\$6.50	\$3,120.00	\$10.00	\$4,800.00	\$6.00	\$2,880.00	\$10.00	\$4,800.00	\$3.25	\$1,560.00	\$5.00	\$2,400.00	
	\$50,000.00	\$50,000.00	\$20,000.00	\$20,000.00	\$3,983.00	\$3,983.00	\$5,000.00	\$5,000.00	\$10,000.00	\$10,000.00	\$5,000.00	\$5,000.00	
	\$25,000.00	\$25,000.00	\$45,000.00	\$45,000.00	\$17,812.00	\$17,812.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	
	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	
	\$25,000.00	\$37,500.00	\$132,000.00	\$198,000.00	\$55,290.00	\$82,935.00	\$25,000.00	\$37,500.00	\$25,000.00	\$37,500.00	\$25,000.00	\$37,500.00	
	\$15,000.00	\$15,000.00	\$15,000.00	\$15,000.00	\$15,000.00	\$15,000.00	\$15,000.00	\$15,000.00	\$15,000.00	\$15,000.00	\$15,000.00	\$15,000.00	
	\$10,900.00	\$10,900.00	\$45,000.00	\$45,000.00	\$40,000.00	\$40,000.00	\$15,000.00	\$15,000.00	\$25,000.00	\$25,000.00	\$100,000.00	\$100,000.00	
	\$25.00	\$255,250.00	\$29.00	\$296,090.00	\$35.00	\$357,350.00	\$30.00	\$306,300.00	\$50.00	\$510,500.00	\$26.00	\$265,460.00	
	\$3.50	\$74,095.00	\$1.50	\$31,755.00	\$1.20	\$25,404.00	\$0.75	\$15,877.50	\$2.50	\$52,925.00	\$2.00	\$42,340.00	
	-\$1.00	-\$1.00	-\$1.00	-\$1.00	-\$1.00	-\$1.00	-\$1.00	-\$1.00	-\$1.00	-\$1.00	-\$1.00	-\$1.00	
	\$75.00	\$396,750.00	\$71.00	\$375,590.00	\$73.00	\$386,170.00	\$62.00	\$327,980.00	\$62.00	\$327,980.00	\$80.00	\$423,200.00	
	\$150.00	\$492,000.00	\$135.00	\$442,800.00	\$139.00	\$455,920.00	\$137.00	\$449,360.00	\$140.00	\$459,200.00	\$135.00	\$442,800.00	
	\$140.00	\$911,400.00	\$124.00	\$807,240.00	\$125.00	\$813,750.00	\$123.00	\$800,730.00	\$126.00	\$820,260.00	\$125.00	\$813,750.00	
	\$20.00	\$19,800.00	\$10.00	\$9,900.00	\$30.00	\$29,700.00	\$12.00	\$11,880.00	\$16.00	\$15,840.00	\$15.00	\$14,850.00	
	\$93,500.00	\$93,500.00	\$93,500.00	\$93,500.00	\$93,500.00	\$93,500.00	\$93,500.00	\$93,500.00	\$93,500.00	\$93,500.00	\$93,500.00	\$93,500.00	
	\$571.00	\$262,660.00	\$228.00	\$104,880.00	\$310.00	\$142,600.00	\$250.00	\$115,000.00	\$255.00	\$117,300.00	\$320.00	\$147,200.00	
	\$549.00	\$430,416.00	\$220.00	\$172,480.00	\$312.00	\$244,608.00	\$230.00	\$180,320.00	\$245.00	\$192,080.00	\$300.00	\$235,200.00	
	\$460.00	\$797,640.00	\$185.00	\$320,790.00	\$243.00	\$421,362.00	\$190.00	\$329,460.00	\$210.00	\$364,140.00	\$240.00	\$416,160.00	
	\$415.00	\$352,750.00	\$180.00	\$153,000.00	\$222.00	\$188,700.00	\$178.00	\$151,300.00	\$195.00	\$165,750.00	\$215.00	\$182,750.00	
	\$228.00	\$14,592.00	\$150.00	\$9,600.00	\$140.00	\$8,960.00	\$200.00	\$12,800.00	\$123.00	\$7,872.00	\$150.00	\$9,600.00	
	\$100.00	\$91,100.00	\$63.00	\$57,393.00	\$91.00	\$82,901.00	\$105.00	\$95,655.00	\$80.00	\$72,880.00	\$125.00	\$113,875.00	
	\$120.00	\$57,240.00	\$70.00	\$33,390.00	\$85.00	\$40,545.00	\$105.00	\$50,085.00	\$76.00	\$36,252.00		\$42,930.00	
	\$140.00	\$5,040.00	\$95.00	\$3,420.00	\$143.00	\$5,148.00		\$4,680.00	\$126.00	\$4,536.00		\$5,400.00	
	\$3,000.00			\$2,800.00	\$3,420.00	\$3,420.00	\$4,000.00	\$4,000.00		\$2,500.00		\$3,400.00	
	\$15,000.00		\$9,000.00	·	·			\$90,000.00	·	\$78,300.00		\$90,000.00	
	\$12,000.00		. ,	\$189,000.00	·	\$181,062.00	. ,	\$162,000.00	·	\$121,500.00	·	\$143,100.00	
	\$3,500.00	\$143,500.00	\$3,400.00	\$139,400.00	\$3,428.00	\$140,548.00	\$3,000.00	\$123,000.00	\$4,200.00	\$172,200.00	\$3,400.00	\$139,400.00	

\$37,800.00

\$4,200.00

\$37,800.00

\$4,721.00

\$42,489.00

\$5,000.00

\$45,000.00

\$5,000.00

\$45,000.00

\$5,200.00

\$46,800.00

\$4,200.00

Project Name: NE 152nd Avenue (Padden Parkway - NE 99th Street)

Project Number: PRJ0000586 (CRP 301022)

Bid Opening Date: September 23, 2025

Thompson Bros. Excavating, Inc.  18211 NE Fourth Plain Rd Vancouver, WA 98682-9676  Vancouver, WA 98682-9576  (360) 354 7056  Rotschy, Inc.  Rotschy, Inc.  Western United Civil Group, LLC  PO Box 236  Yacolt, WA 98675-0399  Tacoma, WA 98443-2638  Battle Ground, WA 98604  (360) 374 7056	ENGINEER'S ESTIMATE	BIDDER #1	BIDDER #2	BIDDER #3	BIDDER #4	BIDDER #5
Vancouver, WA 98682-9676 Vancouver, WA 98662-2351 Yacolt, WA 98675-0399 Tacoma, WA 98443-2638 Battle Ground, WA 98604			Rotschy, Inc.	• •	Active Construction, Inc.	Tapani Inc.
		18211 NE Fourth Plain Rd	7408 NE 113th Cir	PO Box 236	5110 River Rd. E	705 SE 9th Avenue/PO Box 190
(360) 354 7056 (360) 334 3400 (360) 309 7444 (353) 348 4094 360 697 4449		Vancouver, WA 98682-9676	Vancouver, WA 98662-2351	Yacolt, WA 98675-0399	Tacoma, WA 98443-2638	Battle Ground, WA 98604
(360) 234-7036 (360) 334-3100 (360) 309-7114 (253) 246-1091 360-667-1148		(360) 254-7056	(360) 334-3100	(360) 309-7114	(253) 248-1091	360-687-1148

							Vancouver, WA 98682-9676 (360) 254-7056		Vancouver, WA 98662-2351 (360) 334-3100		, and the second se		Tacoma, WA 98443-2638 (253) 248-1091			nd, WA 98604 87-1148
BID ITEM	SPEC.	DESCRIPTION	UNIT	QUANTITY	UNIT PRICE	TOTAL PRICE	, ,	TOTAL PRICE	,	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
NO. 40	<b>SECTION</b> 7-05	ADJUSTING MANHOLES (METHOD A)	EACH	11	\$1,400.00	\$15,400.00	\$1,000.00	\$11,000.00	\$312.00	\$3,432.00	\$600.00	\$6,600.00	\$500.00	\$5,500.00	\$900.00	\$9,900.00
41	7-05	AREA INLET 24 INCH	EACH	1	\$1,400.00	\$1,500.00	\$2,000.00	\$2,000.00	\$2,640.00	\$2,640.00	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00	\$2,500.00	\$2,500.00
42	7-08	TRENCH SAFETY SYSTEM (Minimum Bid of \$3.00 per L.F.)	L.F.	5280	\$4.00	\$21,120.00	\$3.00	\$15,840.00	\$3.00	\$15,840.00	\$3.00	\$15,840.00	\$3.00	\$15,840.00	\$3.00	\$15,840.00
43	7-08	PLUGGING EXISTING PIPE	EACH	2	\$300.00	\$600.00	\$1,000.00	\$2,000.00	\$476.00	\$952.00	\$700.00	\$1,400.00	\$220.00	\$440.00	\$1,000.00	\$2,000.00
44	7-08	TRENCH DAM	EACH	10	\$1,500.00	\$15,000.00	\$3,000.00	\$30,000.00	\$1,245.00	\$12,450.00	\$500.00	\$5,000.00	\$1,350.00	\$13,500.00	\$2,500.00	\$25,000.00
45	7-14	RESETTING EXISTING HYDRANT	EACH	2	\$2,000.00	\$4,000.00	\$4,000.00	\$8,000.00	\$1,744.00	\$3,488.00	\$1,000.00	\$2,000.00	\$3,400.00	\$6,800.00	\$3,000.00	\$6,000.00
46	7-15	RELOCATE WATER METER SERVICE AND BOX	EACH	3	\$2,500.00	\$7,500.00	\$1,300.00	\$3,900.00	\$840.00	\$2,520.00	\$1,000.00	\$3,000.00	\$1,100.00	\$3,300.00	\$1,800.00	\$5,400.00
47	7-15	ADJUST WATER METER SERVICE AND BOX	EACH	1	\$1,000.00	\$1,000.00	\$400.00	\$400.00	\$694.00	\$694.00	\$300.00	\$300.00	\$690.00	\$690.00	\$500.00	\$500.00
48	8-01	ESC LEAD	DAY	86	\$100.00	\$8,600.00	\$70.00	\$6,020.00	\$87.00	\$7,482.00	\$100.00	\$8,600.00	\$1.00	\$86.00	\$45.00	\$3,870.00
49	8-01	INLET PROTECTION	EACH	79	\$85.00	\$6,715.00	\$70.00	\$5,530.00	\$100.00	\$7,900.00	\$100.00	\$7,900.00	\$80.00	\$6,320.00	\$45.00	\$3,555.00
50	8-01	EROSION CONTROL AND WATER POLLUTION PREVENTION	L.S.	1	\$50,000.00	\$50,000.00	\$37,200.00	\$37,200.00	\$20,000.00	\$20,000.00	\$6,000.00	\$6,000.00	\$15,000.00	\$15,000.00	\$40,000.00	\$40,000.00
51	8-02	SEEDING AND MULCHING (Upland)	ACRE	0.35	\$10,000.00	\$3,500.00	\$10,000.00	\$3,500.00	\$6,254.00	\$2,188.90	\$10,000.00	\$3,500.00	\$5,500.00	\$1,925.00	\$10,000.00	\$3,500.00
52	8-01	HIGH VISIBILITY SILT FENCE	L.F.	4520	\$6.00	\$27,120.00	\$4.00	\$18,080.00	\$4.25	\$19,210.00	\$2.00	\$9,040.00	\$4.00	\$18,080.00	\$4.00	\$18,080.00
53	8-01	WATER FOR PLANT ESTABLISHMENT(Minimum Bid of \$100/MGAL)	MGAL	246	\$300.00	\$73,800.00	\$100.00	\$24,600.00	\$100.00	\$24,600.00	\$100.00	\$24,600.00	\$100.00	\$24,600.00	\$100.00	\$24,600.00
54	8-02	TOPSOIL TYPE A	C.Y.	831	\$50.00	\$41,550.00	\$50.00	\$41,550.00	\$76.00	\$63,156.00	\$45.00	\$37,395.00	\$47.50	\$39,472.50	\$45.00	\$37,395.00
55	8-02	PSIPE - TREES, DECIDUOUS, 2-IN CAL, 20-GAL (Prunus)	EACH	33	\$700.00	\$23,100.00	\$550.00	\$18,150.00	\$608.00	\$20,064.00	\$150.00	\$4,950.00	\$525.00	\$17,325.00	\$145.00	\$4,785.00
56	8-02	PSIPE - GROUNDCOVER, 1-GAL, 6-HEIGHT (Arctostaphylos)	EACH	1368	\$20.00	\$27,360.00	\$17.00	\$23,256.00	\$23.00	\$31,464.00	\$5.00	\$6,840.00	\$14.25	\$19,494.00	\$5.50	\$7,524.00
57	8-02	BARK - COMPOST WOOD MULCH	C.Y.	114	\$60.00	\$6,840.00	\$75.00	\$8,550.00	\$75.00	\$8,550.00	\$61.00	\$6,954.00	\$73.00	\$8,322.00	\$58.00	\$6,612.00
58	8-02	ROOT BARRIER	L.F.	1056	\$20.00	\$21,120.00	\$18.00	\$19,008.00	\$8.00	\$8,448.00	\$15.00	\$15,840.00	\$14.25	\$15,048.00	\$15.00	\$15,840.00
59	8-04	CEMENT CONC. TRAFFIC CURB AND GUTTER	L.F.	6350	\$30.00	\$190,500.00	\$48.00	\$304,800.00	\$42.00	\$266,700.00	\$46.00	\$292,100.00	\$38.00	\$241,300.00	\$42.00	\$266,700.00
60	8-04	CEMENT CONC. PEDESTRIAN CURB	L.F.	1290	\$25.00	\$32,250.00	\$35.00	\$45,150.00	\$73.00	\$94,170.00	\$75.00	\$96,750.00	\$61.50	\$79,335.00	\$70.00	\$90,300.00
61	8-06	CEMENT CONC. APPROACH	S.Y.	302	\$130.00	\$39,260.00	\$188.00	\$56,776.00	\$193.00	\$58,286.00	\$210.00	\$63,420.00	\$180.00	\$54,360.00	\$265.00	\$80,030.00
62	8-06	COMMERCIAL CEMENT CONC. APPROACH (Detached Sidewalk)	S.Y.	448	\$160.00	\$71,680.00	\$190.00	\$85,120.00	\$160.00	\$71,680.00	\$196.00	\$87,808.00	\$160.00	\$71,680.00	\$185.00	\$82,880.00
63	8-06	DRIVEWAY CONSTRUCTION TYPE HMA	S.Y.	452	\$60.00	\$27,120.00	\$100.00	\$45,200.00	\$90.00	\$40,680.00	\$113.00	\$51,076.00	\$71.00	\$32,092.00	\$120.00	\$54,240.00
64	8-06	DRIVEWAY CONSTRUCTION TYPE CONCRETE	S.Y.	48	\$130.00	\$6,240.00	\$190.00	\$9,120.00	\$292.00	\$14,016.00	\$362.00	\$17,376.00	\$280.00	\$13,440.00	\$375.00	\$18,000.00
65	8-06	DRIVEWAY CONSTRUCTION TYPE GRAVEL	S.Y.	93	\$25.00	\$2,325.00	\$30.00	\$2,790.00	\$28.00	\$2,604.00	\$97.00	\$9,021.00	\$13.70	\$1,274.10	\$55.00	\$5,115.00
66	8-09	RAISED PAVEMENT MARKER TYPE 2	HUND	1	\$1,800.00	\$1,800.00	\$1,200.00	\$1,200.00	\$900.00	\$900.00	\$3,000.00	\$3,000.00	\$3,150.00	\$3,150.00	\$900.00	\$900.00
67	8-10	TUBULAR MARKER	EACH	6	\$200.00	\$1,200.00	\$600.00	\$3,600.00	\$204.00	\$1,224.00	\$185.00	\$1,110.00	\$170.00	\$1,020.00	\$450.00	\$2,700.00
68	8-12	TEMPORARY CHAIN LINK FENCE	L.F.	750	\$6.00	\$4,500.00	\$8.00	\$6,000.00	\$4.55	\$3,412.50	\$30.00	\$22,500.00	\$6.00	\$4,500.00	\$5.00	\$3,750.00
69	8-13	ADJUST MONUMENT CASE AND COVER	EACH	2	\$500.00	\$1,000.00	\$400.00	\$800.00	\$224.00	\$448.00	\$500.00	\$1,000.00	\$850.00	\$1,700.00	\$750.00	\$1,500.00
70	8-14	CEMENT CONC. SIDEWALK	S.Y.	3170	\$100.00	\$317,000.00	\$138.00	\$437,460.00	\$100.00	\$317,000.00	\$130.00	\$412,100.00	\$100.00	\$317,000.00	\$120.00	\$380,400.00
71	8-14	CEMENT CONC. CURB RAMP	S.Y.	480	\$135.00	\$64,800.00	\$150.00	\$72,000.00	\$156.00	\$74,880.00	\$175.00	\$84,000.00	\$150.00	\$72,000.00	\$175.00	\$84,000.00
72	8-14	DETECTABLE WARNING SURFACE	S.F.	20	\$50.00	\$1,000.00	\$60.00	\$1,200.00	\$69.00	\$1,380.00	\$70.00	\$1,400.00	\$68.00	\$1,360.00	\$70.00	\$1,400.00
73	8-18	MAILBOX SUPPORT, TYPE 1	EACH	7	\$500.00	\$3,500.00	\$1,300.00	\$9,100.00	\$311.00	\$2,177.00	\$500.00	\$3,500.00	\$570.00	\$3,990.00	\$650.00	\$4,550.00
74	8-18	MAILBOX SUPPORT, TYPE 2	EACH	1	\$800.00	\$800.00	\$1,900.00	\$1,900.00	\$519.00	\$519.00	\$500.00	\$500.00	\$1,000.00	\$1,000.00	\$1,200.00	\$1,200.00
75	8-18	MAILBOX SUPPORT, TYPE CMU	EACH	2	\$3,000.00	\$6,000.00	\$2,500.00	\$5,000.00	\$322.00	\$644.00	\$1,000.00	\$2,000.00	\$5,250.00	\$10,500.00	\$1,500.00	\$3,000.00
76	8-20	ILLUMINATION SYSTEM	L.S.	1	\$29,800.00	\$29,800.00	\$15,000.00	\$15,000.00	\$11,660.00	\$11,660.00	\$12,000.00	\$12,000.00	\$8,744.53	\$8,744.53	\$6,500.00	\$6,500.00
77	8-20	INTERCONNECT SYSTEM	L.S.	1	\$346,900.00	\$346,900.00	\$200,000.00	\$200,000.00	\$180,200.00	\$180,200.00	\$190,000.00	\$190,000.00	\$175,000.00	\$175,000.00	\$180,000.00	\$180,000.00
78	8-20	ITS SYSTEM (RRFB'S)	L.S.	1	\$88,200.00	\$88,200.00	\$103,000.00	\$103,000.00	\$102,290.00	\$102,290.00	\$105,000.00	\$105,000.00	\$110,000.00	\$110,000.00	\$115,000.00	\$115,000.00
79	8-20	TRAFFIC SIGNAL SYSTEM (NE 152ND AVE AT NE 99TH ST)	L.S.	1	\$505,500.00	\$505,500.00	\$620,000.00	\$620,000.00	\$602,080.00	\$602,080.00	\$680,000.00	\$680,000.00	\$775,000.00	\$775,000.00	\$800,000.00	\$800,000.00
80	8-20	TRAFFIC SIGNAL SYSTEM LOOP REPLACEMENT	L.S.	1	\$2,000.00	\$2,000.00	\$4,000.00	\$4,000.00	\$2,120.00	\$2,120.00	\$2,500.00	\$2,500.00	\$4,221.32	\$4,221.32	\$4,300.00	\$4,300.00

Project Name: NE 152nd Avenue (Padden Parkway - NE 99th Street)					ENGINEER'S ESTIMATE		BIDDE	R #1	BIDDER #2		BIDDER #3		BIDDER #4		BIDDER #5	
Project Number: PRJ0000586 (CRP 301022)			Th		Thompson Bros. Excavating,		, Rotschy, Inc.		Western United Civil Group,		Active Construction, Inc.		Tapani Inc.			
Bid Op	ening Date:	September 23, 2025					Inc. 18211 NE Fourth Plain Rd				LLC PO Box 236		5110 River Rd. E		705 SE 9th Avenue/PO Box 19	
						Vancouver, WA 98682-9676 (360) 254-7056		Vancouver, WA 98662-2351		Yacolt, WA		•	A 98443-2638	Battle Ground, WA 98604		
BID ITEM SPEC.					LINIT PRIOF	TOTAL PRIOR				34-3100	(360) 30			48-1091		7-1148
NO.	SECTION	DESCRIPTION	UNIT	QUANTITY	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
81 82		PERMANENT SIGNING PAINT LINE	L.S. L.F.	5000	\$25,000.00 \$1.50	\$25,000.00 \$7,500.00	\$67,000.00 \$0.70	\$67,000.00 \$3,500.00	\$19,026.00 \$0.80	\$19,026.00 \$4,000.00	\$60,000.00 \$1.50	\$60,000.00 \$7,500.00	\$30,000.00 \$1.25	\$30,000.00 \$6,250.00	\$25,000.00 \$0.50	\$25,000.00 \$2,500.00
83		PAINT LINE PAINTED WIDE LANE LINE	L.F.	10000	\$2.00	\$20,000.00	\$0.70	\$9,000.00	\$0.84	\$8,400.00	\$2.00	\$20,000.00	\$1.75	\$17,500.00	·	\$7,000.00
84		PLASTIC STOP LINE	L.F.	200	\$40.00	\$8,000.00	\$45.00	\$9,000.00	\$37.00	\$7,400.00	\$30.00	\$6,000.00	\$27.00	\$5,400.00	\$36.00	\$7,200.00
85		PLASTIC CROSSWALK LINE	S.F.	250	\$20.00	\$5,000.00	\$25.00	\$6,250.00	\$20.00	\$5,000.00	\$20.00	\$5,000.00	\$18.00	\$4,500.00	\$20.00	\$5,000.00
86		PLASTIC TRAFFIC ARROW	EACH	12	\$450.00	\$5,400.00	\$500.00	\$6,000.00	\$425.00	\$5,100.00	\$500.00	\$6,000.00	\$445.00	\$5,340.00	\$410.00	\$4,920.00
87	8-22	PLASTIC BICYCLE LANE SYMBOL	EACH	30	\$450.00	\$13,500.00	\$500.00	\$15,000.00	\$425.00	\$12,750.00	\$500.00	\$15,000.00	\$395.00	\$11,850.00	\$410.00	\$12,300.00
88	8-23	TEMPORARY PAVEMENT MARKINGS	L.F.	10000	\$0.50	\$5,000.00	\$1.00	\$10,000.00	\$0.70	\$7,000.00	\$1.00	\$10,000.00	\$1.00	\$10,000.00	\$0.50	\$5,000.00
89	8.00	FIELD OFFICE BUILDING	L.S.	1	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$22,577.00	\$22,577.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$15,000.00	\$15,000.00
			SCHEDU	LE A TOTAL		\$8,902,057.00		\$7,222,102.00		\$7,312,256.40		\$7,369,841.50		\$7,401,297.84		\$7,509,545.00
SCHEDULE	B - County	Work in WSDOT ROW														
90	1-09.7	MOBILIZATION	L.S.	1	\$2,900.00	\$2,900.00	\$1,000.00	\$1,000.00	\$1,500.00	\$1,500.00	\$2,500.00	\$2,500.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00
91	1-07.11	TRAINING	HOUR	20	\$30.00	\$600.00	\$20.00	\$400.00	\$16.00	\$320.00	\$71.00	\$1,420.00	\$1.00	\$20.00	\$10.00	\$200.00
92	1-07	REIMBURSEMENT FOR THIRD PARTY DAMAGE	EST.	1	\$5.00	\$5.00	\$5.00	\$5.00	\$5.00	\$5.00	\$5.00	\$5.00	\$5.00	\$5.00	\$5.00	\$5.00
93	1-10	TRAFFIC CONTROL SUPERVISOR	L.S.	1	\$1,000.00	\$1,000.00	\$500.00	\$500.00	\$1,383.00	\$1,383.00	\$4,500.00	\$4,500.00	\$500.00	\$500.00	\$200.00	\$200.00
94	1-10	FLAGGERS (Minimum Bid of \$40.00 per Hour)	HOUR	60	\$80.00	\$4,800.00	\$78.00	\$4,680.00	\$69.00	\$4,140.00	\$65.00	\$3,900.00	\$70.00	\$4,200.00	\$75.00	\$4,500.00
95	1-10	OTHER TRAFFIC CONTROL LABOR	HOUR	8	\$80.00	\$640.00	\$66.00	\$528.00	\$69.00	\$552.00	\$65.00	\$520.00	\$68.00	\$544.00	\$75.00	\$600.00
96		OTHER TEMPORARY TRAFFIC CONTROL DEVICES	L.S.	1	\$1,000.00	\$1,000.00	\$500.00	\$500.00	\$1,060.00	\$1,060.00	\$1,500.00	\$1,500.00	\$500.00	\$500.00	\$10.00	\$10.00
97	1-10	WORK ZONE SAFETY CONTINGENCY	EST.	1	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00
98	8-20	INTERCONNECT SYSTEM	L.S.	1	\$20,200.00	\$20,200.00	\$22,000.00	\$22,000.00	\$6,890.00	\$6,890.00	\$8,000.00	\$8,000.00	\$22,000.00	\$22,000.00	\$22,000.00	\$22,000.00
				SUBTOTAL		\$32,145.00		\$30,613.00		\$16,850.00		\$23,345.00		\$29,769.00		\$29,515.00
		WASHINGTON STA		LE B TOTAL	-	\$2,732.33 \$34,877.33	_	\$2,602.11 \$33,215.11	-	\$1,432.25 \$18,282.25	_	\$1,984.33 \$25,329.33	-	\$2,530.37 \$32,299.37	-	\$2,508.78 \$32,023.78
			SCHEDO	LE B TOTAL		φ34,677.33		φ33,213.11		φ10,202.23		φ23,329.33		φ32,299.3 <i>1</i>		φ32,023.76
SCHEDULE	C - City of V	/ancouver Water Work														
99	1-09	MOBILIZATION	L.S.	1	\$5,170.00	\$5,170.00	\$1,000.00	\$1,000.00	\$1,500.00	\$1,500.00	\$2,000.00	\$2,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00
100		POTHOLE UTILITIES	EACH	12	\$400.00	\$4,800.00	\$1,000.00	\$12,000.00	\$402.00	\$4,824.00	\$0.00	\$0.00	\$550.00	\$6,600.00		\$6,000.00
101	1-07	SPCC PLAN	L.S.	1	\$200.00	\$200.00	\$250.00	\$250.00	\$245.00	\$245.00	\$650.00	\$650.00	\$150.00	\$150.00	\$250.00	\$250.00
102	1-07	REIMBURSEMENT FOR THIRD PARTY DAMAGE	EST.	1	\$5.00	\$5.00	\$5.00	\$5.00	\$5.00	\$5.00	\$5.00	\$5.00	\$5.00	\$5.00	\$5.00	\$5.00
103	1-10	WORK ZONE SAFETY CONTINGENCY	EST.	1	\$500.00	\$500.00	\$500.00	\$500.00	\$500.00	\$500.00	\$500.00	\$500.00	\$500.00	\$500.00	\$500.00	\$500.00
104	1-10	TRAFFIC CONTROL SUPERVISOR	L.S.	1	\$1,000.00	\$1,000.00	\$500.00	\$500.00	\$2,074.00	\$2,074.00	\$2,500.00	\$2,500.00	\$500.00	\$500.00	\$200.00	\$200.00
105	1-10	FLAGGERS (MINIMUM BID OF \$40.00 PER HOUR)	HOUR	70	\$80.00	\$5,600.00	\$78.00	\$5,460.00	\$69.00	\$4,830.00	\$65.00	\$4,550.00	\$70.00	\$4,900.00	\$75.00	\$5,250.00
106		OTHER TRAFFIC CONTROL LABOR	HOUR	30	\$80.00	\$2,400.00	\$66.00	\$1,980.00	\$69.00	\$2,070.00	\$65.00	\$1,950.00	·	\$2,040.00	·	\$2,250.00
107	1-10	OTHER TEMPORARY TRAFFIC CONTROL DEVICES	L.S.	1	\$2,000.00	\$2,000.00	\$1,000.00	\$1,000.00	\$1,065.00	\$1,065.00	\$1,000.00	\$1,000.00	\$500.00	\$500.00	L	\$10.00
				SUBTOTAL		\$21,675.00		\$22,695.00		\$17,113.00		\$13,155.00		\$16,195.00		\$15,465.00
		WASHINGTON STA	ATE SALES 1	AX at 8.50%	_	\$1,842.38	_	\$1,929.08	_	\$1,454.61		\$1,118.18		\$1,376.58		\$1,314.53

Project Name: NE 152nd Avenue (Padden Parkway - NE 99th Street)					ENGINEER	S ESTIMATE	BIDDE	R #1	BIDD	ER #2	BIDDER #3		BIDDER #4		BIDDER #5	
Proj	ect Number:	PRJ0000586 (CRP 301022)					Thompson Bros	•	Rotsc	hy, Inc.	Western United Civil Group, LLC		Active Construction, Inc.		Tapani Inc.	
Bid O <sub>l</sub>	ening Date:	September 23, 2025					Inc. 18211 NE Fourth Plain Rd		7408 NE 113th Cir		PO Box 236		5110 River Rd. E		705 SE 9th Avenue/PO Box	
							Vancouver, WA 98682-9676 (360) 254-7056		Vancouver, WA 98662-2351 (360) 334-3100		Yacolt, WA 98675-0399 (360) 309-7114		Tacoma, WA 98443-2638 (253) 248-1091		Battle Ground, WA 98604 360-687-1148	
BID ITEM	BID ITEM SPEC.						, ,		, ,		, ,					
NO. SECTION			QUANTITY	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	
SCHEDULE C TOTAL					\$23,517.38		\$24,624.08		\$18,567.61		\$14,273.18		\$17,571.58		\$16,779.53	
SCHEDIII I	: D. City of	Vancouver Sanitary Work														
SCHEDULE	B - City of	valicouver Samilary Work														
108	1-09	MOBILIZATION	L.S.	1	\$9,080.00	\$9,080.00	\$7,000.00	\$7,000.00	\$5,500.00	\$5,500.00	\$10,000.00	\$10,000.00	\$1,000.00	\$1,000.00	\$7,000.00	\$7,000.00
109	1-05	ONE-YEAR WARRANTY	EST.	1	\$9,000.00	\$9,000.00	\$9,000.00	\$9,000.00	\$9,000.00	\$9,000.00	\$9,000.00	\$9,000.00	\$9,000.00	\$9,000.00	\$9,000.00	\$9,000.00
110	1-07	SPCC PLAN	L.S.	1	\$500.00	\$500.00	\$1,000.00	\$1,000.00	\$244.62	\$244.62	\$500.00	\$500.00	\$150.00	\$150.00	\$250.00	\$250.00
111	1-07	REIMBURSEMENT FOR THIRD PARTY DAMAGE	EST.	1	\$5.00	\$5.00	\$5.00	\$5.00	\$5.00	\$5.00	\$5.00	\$5.00	\$5.00	\$5.00	\$5.00	\$5.00
112	1-10	WORK ZONE SAFETY CONTINGENCY	EST.	1	\$100.00	\$100.00	\$100.00	\$100.00	\$100.00	\$100.00	\$100.00	\$100.00	\$100.00	\$100.00	\$100.00	\$100.00
113	1-10	TRAFFIC CONTROL SUPERVISOR	L.S.	1	\$500.00	\$500.00	\$2,000.00	\$2,000.00	\$2,074.25	\$2,074.25	\$4,500.00	\$4,500.00	\$500.00	\$500.00	\$400.00	\$400.00
114	1-10	FLAGGERS (MINIMUM BID OF \$40.00 PER HOUR)	HOUR	66	\$80.00	\$5,280.00	\$78.00	\$5,148.00	\$69.15	\$4,563.90	\$70.00	\$4,620.00	\$70.00	\$4,620.00	\$75.00	\$4,950.00
115	1-10	OTHER TRAFFIC CONTROL LABOR	HOUR	66	\$80.00	\$5,280.00	\$66.00	\$4,356.00	\$69.15	\$4,563.90	\$73.00	\$4,818.00	\$68.00	\$4,488.00	\$5.00	\$330.00
116	1-10	OTHER TEMPORARY TRAFFIC CONTROL DEVICES	L.S.	1	\$200.00	\$200.00	\$1,500.00	\$1,500.00	\$1,060.00	\$1,060.00	\$1,500.00	\$1,500.00	\$500.00	\$500.00	\$10.00	\$10.00
117	3-04	AGGREGATE COMPLIANCE PRICE ADJUSTMENT	CALC	1	-\$1.00	-\$1.00	-\$1.00	-\$1.00	-\$1.00	-\$1.00	-\$1.00	-\$1.00	-\$1.00	-\$1.00	-\$1.00	-\$1.00
118	APPX. A	48-INCH CORROSION RESISTANT SANITARY MANHOLE LESS THAN 10-FEET	EACH	1	\$7,000.00	\$7,000.00	\$6,400.00	\$6,400.00	\$4,200.00	\$4,200.00	\$8,500.00	\$8,500.00	\$6,400.00	\$6,400.00	\$7,500.00	\$7,500.00
119	APPX. A	CONNECT NEW 8-INCH PIPE TO EXISTING MANHOLE (INCL. RE-CHANNEL MANHOLE)	EACH	1	\$2,000.00	\$2,000.00	\$4,500.00	\$4,500.00	\$1,706.00	\$1,706.00	\$3,000.00	\$3,000.00	\$1,950.00	\$1,950.00	\$3,500.00	\$3,500.00
120	APPX. A	TRENCH SAFETY SYSTEM (TRENCHES LESS THAN 14 FEET DEEP) (MINIMUM BID \$3 PER L.F.)	L.F.	220	\$3.00	\$660.00	\$5.00	\$1,100.00	\$4.30	\$946.00	\$3.00	\$660.00	\$3.00	\$660.00	\$3.00	\$660.00
121	APPX. A	TRENCH EXCAVATION & BACKFILL, LESS THAN 10 FEET DEEP	L.F.	133	\$45.00	\$5,985.00	\$49.00	\$6,517.00	\$51.00	\$6,783.00	\$95.00	\$12,635.00	\$5.00	\$665.00	\$10.00	\$1,330.00
122	APPX. A	BANK RUN GRAVEL FOR TRENCH BACKFILL	CY	440	\$35.00	\$15,400.00	\$50.00	\$22,000.00	\$10.00	\$4,400.00	\$53.00	\$23,320.00	\$60.00	\$26,400.00	\$5.00	\$2,200.00
123	APPX. A	TRENCH DAMS	EACH	8	\$1,500.00	\$12,000.00	\$3,000.00	\$24,000.00	\$500.00	\$4,000.00	\$550.00	\$4,400.00	\$1,300.00	\$10,400.00	\$1,500.00	\$12,000.00
124	APPX. A	8 IN. PVC SEWER PIPE & BEDDING	L.F.	133	\$130.00	\$17,290.00	\$48.00	\$6,384.00	\$24.00	\$3,192.00	\$23.00	\$3,059.00	\$117.00	\$15,561.00	\$120.00	\$15,960.00
125	APPX. A	4-INCH PVC SEWER PVC LATERAL INCLUDING BEDDING AND TEB&C	L.F.	87	\$100.00	\$8,700.00	\$90.00	\$7,830.00	\$117.00	\$10,179.00	\$45.00	\$3,915.00	\$75.00	\$6,525.00	\$160.00	\$13,920.00
126	APPX. A	8-IN X 4-IN PVC WYE	EACH	2	\$200.00	\$400.00	\$500.00	\$1,000.00	\$117.00	\$234.00	\$150.00	\$300.00	\$375.00	\$750.00	\$150.00	\$300.00
127	APPX. A	EROSION CONTROL AND WATER POLLUTION PREVENTION	L.S.	1	\$500.00	\$500.00	\$6,800.00	\$6,800.00	\$1,460.00	\$1,460.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$250.00	\$250.00
SCHEDULE D SUBTOTAL						\$99,879.00		\$116,639.00		\$64,210.67		\$95,831.00		\$90,673.00		\$79,664.00
WASHINGTON STATE SALES TAX at 8.50%					_	\$8,489.72	_	\$9,914.32	_	\$5,457.91	_	\$8,145.64	-	\$7,707.21	_	\$6,771.44
SCHEDULE D TOTAL						\$108,368.72		\$126,553.32		\$69,668.58		\$103,976.64		\$98,380.21		\$86,435.44
TOTAL BID						\$9,068,820.42		\$7,406,494.50		\$7,418,774.83		\$7,513,420.64		\$7,549,548.99		\$7,644,783.74
% OVER OR UNDER ENGINEERS ESTIMATE							-18.3	3%	-18.	.19%	-17.1	15%	-16	75%	-15.7	0%

Bids have been reviewed for accuracy, unbalancing of bid items, and tabulations checked.

Title: Project Engineer

Date: 09/29/25

Project Name: NE 152nd Avenue (Padden Parkway - NE 99th Street)

Project Number: PRJ0000586 (CRP 301022)

Bid Opening Date: September 23, 2025

Bid Opening Date: September 23, 2025

PO Box 1434

Vancouver, WA 98668

Woodburn, OR 97071

Sumner, WA 98390

360-949-6719

971-216-0050

Pivetta Brothers Construction Inc

Po Box 1434

395 Shenandoah Lane

1812 Pease Ave

Vancouver, WA 98668

971-216-0050

253-753-0757

						49-6719		16-0050	•	53-0757
BID ITEM NO.	SPEC. SECTION	DESCRIPTION	UNIT	QUANTITY	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
SCHEDULE	A - ROAD	IMPROVEMENTS								
1	1-09.7	MOBILIZATION	L.S.	1	\$625,000.00	\$625,000.00	\$840,000.00	\$840,000.00	\$836,000.00	\$836,000.00
2	1-05	RECORD DRAWINGS	L.S.	1	\$12,620.00	\$12,620.00	\$5,000.00	\$5,000.00	\$3,780.00	\$3,780.00
3	1-07	TRAINING	HOUR	1180	\$64.00	\$75,520.00	\$1.00	\$1,180.00	\$27.00	\$31,860.0
4	1-07	REIMBURSEMENT FOR THIRD PARTY DAMAGE	EST.	1	\$5.00	\$5.00	\$5.00	\$5.00	\$5.00	\$5.00
5	1-07	SPCC PLAN	L.S.	1	\$850.00	\$850.00	\$5,000.00	\$5,000.00	\$500.00	\$500.00
6	1-08	TYPE B PROGRESS SCHEDULE(Minimum Bid of \$7,500.00 Lump Sum)	L.S.	1	\$7,500.00	\$7,500.00	\$7,500.00	\$7,500.00	\$7,500.00	\$7,500.0
7	1-09	FUEL COST ADJUSTMENT	CALC	1	\$13,740.00	\$13,740.00	\$13,740.00	\$13,740.00	\$13,740.00	\$13,740.0
8	1-10	TRAFFIC CONTROL SUPERVISOR	L.S.	1	\$290,000.00	\$290,000.00	\$140,000.00	\$140,000.00	\$277,700.00	\$277,700.0
9	1-10	FLAGGERS (Minimum Bid of \$40.00 per Hour)	HOUR	6600	\$100.00	\$660,000.00	\$101.00	\$666,600.00	\$71.00	\$468,600.0
10	1-10	OTHER TRAFFIC CONTROL LABOR	HOUR	1040	\$105.00	\$109,200.00	\$84.00	\$87,360.00	\$83.00	\$86,320.0
11	1-10	CONSTRUCTION SIGNS CLASS A	S.F.	1500	\$23.00	\$34,500.00	\$39.50	\$59,250.00	\$35.50	\$53,250.00
12	1-10	PORTABLE CHANGEABLE MESSAGE SIGN	HOUR	480	\$10.00	\$4,800.00	\$13.25	\$6,360.00	\$16.20	\$7,776.00
13	1-10	OTHER TEMPORARY TRAFFIC CONTROL DEVICES	L.S.	1	\$20,000.00	\$20,000.00	\$30,000.00	\$30,000.00	\$54,000.00	\$54,000.0
14	1-10	PEDESTRIAN TRAFFIC CONTROL	L.S.	1	\$55,000.00	\$55,000.00	\$79,000.00	\$79,000.00	\$143,300.00	\$143,300.0
15	1-10	WORK ZONE SAFETY CONTINGENCY	EST.	1	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.0
16	2-01	CLEARING AND GRUBBING	ACRE	1.5	\$20,000.00	\$30,000.00	\$35,000.00	\$52,500.00	\$25,000.00	\$37,500.0
17	2-01	ROADSIDE CLEANUP	EST.	1	\$15,000.00	\$15,000.00	\$15,000.00	\$15,000.00	\$15,000.00	\$15,000.0
18	2-02	REMOVAL OF STRUCTURES AND OBSTRUCTIONS	L.S.	1	\$45,000.00	\$45,000.00	\$180,000.00	\$180,000.00	\$185,000.00	\$185,000.0
19	2-03	ROADWAY EXCAVATION INCL. HAUL	C.Y.	10210	\$15.00	\$153,150.00	\$57.00	\$581,970.00	\$69.50	\$709,595.0
20	2-12	CONSTRUCTION GEOTEXTILE FOR SEPARATION	S.Y.	21170	\$2.00	\$42,340.00	\$1.50	\$31,755.00	\$2.25	\$47,632.5
21	3-04	AGGREGATE COMPLIANCE PRICE ADJUSTMENT	CALC	1	-\$1.00	-\$1.00	-\$1.00	-\$1.00	-\$1.00	-\$1.0
22	4-04	CRUSHED SURFACING BASE COURSE	C.Y.	5290	\$70.00	\$370,300.00	\$115.00	\$608,350.00	\$102.40	\$541,696.0
23	5-04	HMA CL. 3/8 IN. PG 58H-22	TON	3280	\$134.00	\$439,520.00	\$131.00	\$429,680.00	\$145.80	\$478,224.0
24	5-04	HMA CL. 1/2 IN. PG 58H-22	TON	6510	\$124.00	\$807,240.00	\$118.00	\$768,180.00	\$126.35	\$822,538.5
25	5-04	PLANING BITUMINOUS PAVEMENT	S.Y.	990	\$15.00	\$14,850.00	\$6.25	\$6,187.50	\$17.90	\$17,721.0
26	5-04	ASPHALT COST PRICE ADJUSTMENT	CALC	1	\$93,500.00	\$93,500.00	\$93,500.00	\$93,500.00	\$93,500.00	\$93,500.0
27	7-01	INFILTRATION TRENCH A - 10 FT. WIDE	L.F.	460	\$205.00	\$94,300.00	\$361.00	\$166,060.00	\$245.00	\$112,700.0
28	7-01	INFILTRATION TRENCH B - 9.5 FT. WIDE	L.F.	784	\$200.00	\$156,800.00	\$348.00	\$272,832.00	\$235.50	\$184,632.0
29	7-01	INFILTRATION TRENCH C - 7.5 FT. WIDE	L.F.	1734	\$195.00	\$338,130.00	\$295.00	\$511,530.00	\$193.00	\$334,662.0
30	7-01	INFILTRATION TRENCH D - 6.5 FT. WIDE	L.F.	850	\$193.00	\$164,050.00	\$295.00	\$250,750.00	\$165.00	\$140,250.0
31	7-01	INFILTRATION TRENCH E - 3 FT. WIDE	L.F.	64	\$180.00	\$11,520.00	\$184.00	\$11,776.00	\$146.75	\$9,392.0
32	7-04	STORM SEWER PIPE 10 IN. DIAM.	L.F.	911	\$130.00	\$118,430.00	\$85.00	\$77,435.00	\$162.50	\$148,037.5
33	7-04	STORM SEWER PIPE 12 IN. DIAM.	L.F.	477	\$135.00	\$64,395.00	\$76.00	\$36,252.00	\$161.55	\$77,059.3
34	7-04	DUCTILE IRON STORM SEWER PIPE 10 IN. DIAM.	L.F.	36	\$175.00	\$6,300.00	\$147.00	\$5,292.00	\$247.10	\$8,895.6
35	7-05	CATCH BASIN TYPE 1	EACH	1	\$2,600.00	\$2,600.00	\$2,515.00	\$2,515.00	\$3,295.00	\$3,295.0
36	7-05	CATCH BASIN TYPE 2 60 IN. DIAM. (TEE)	EACH	9	\$12,000.00	\$108,000.00	\$12,450.00	\$112,050.00	\$15,105.00	\$135,945.0
37	7-05	PRECAST CONCRETE DRYWELL	EACH	27	\$9,900.00	\$267,300.00	\$12,275.00	\$331,425.00	\$5,792.00	\$156,384.0
38	7-05	COMBINATION INLET	EACH	41	\$3,500.00	\$143,500.00	\$2,875.00	\$117,875.00	\$3,558.00	\$145,878.00
				1	4					

Project Name: NE 152nd Avenue (Padden Parkway - NE 99th Street)

Project Number: PRJ0000586 (CRP 301022)

Bid Opening Date: September 23, 2025

BIDDER #6	BIDDER #7	BIDDER #8					
Colf Construction LLC	Kerr Contractors Oregon LLC	Pivetta Brothers Construction Inc					
PO Box 1434	395 Shenandoah Lane	1812 Pease Ave					
Vancouver, WA 98668	Woodburn, OR 97071	Sumner, WA 98390					
360-949-6719	971-216-0050	253-753-0757					

					360-94	19-6719	971-2	16-0050	253-7	53-0757
BID ITEM NO.	SPEC. SECTION	DESCRIPTION	UNIT	QUANTITY	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
40	7-05	ADJUSTING MANHOLES (METHOD A)	EACH	11	\$1,500.00	\$16,500.00	\$1,025.00	\$11,275.00	\$1,135.00	\$12,485.00
41	7-05	AREA INLET 24 INCH	EACH	1	\$3,300.00	\$3,300.00	\$3,075.00	\$3,075.00	\$3,110.00	\$3,110.00
42	7-08	TRENCH SAFETY SYSTEM (Minimum Bid of \$3.00 per L.F.)	L.F.	5280	\$3.00	\$15,840.00	\$14.50	\$76,560.00	\$3.00	\$15,840.00
43	7-08	PLUGGING EXISTING PIPE	EACH	2	\$300.00	\$600.00	\$375.00	\$750.00	\$330.50	\$661.00
44	7-08	TRENCH DAM	EACH	10	\$1,400.00	\$14,000.00	\$1,075.00	\$10,750.00	\$650.00	\$6,500.00
45	7-14	RESETTING EXISTING HYDRANT	EACH	2	\$3,500.00	\$7,000.00	\$2,375.00	\$4,750.00	\$1,991.00	\$3,982.00
46	7-15	RELOCATE WATER METER SERVICE AND BOX	EACH	3	\$4,200.00	\$12,600.00	\$1,950.00	\$5,850.00	\$1,681.00	\$5,043.00
47	7-15	ADJUST WATER METER SERVICE AND BOX	EACH	1	\$790.00	\$790.00	\$650.00	\$650.00	\$1,110.00	\$1,110.00
48	8-01	ESC LEAD	DAY	86	\$180.00	\$15,480.00	\$335.00	\$28,810.00	\$54.00	\$4,644.00
49	8-01	INLET PROTECTION	EACH	79	\$60.00	\$4,740.00	\$75.00	\$5,925.00	\$70.00	\$5,530.00
50	8-01	EROSION CONTROL AND WATER POLLUTION PREVENTION	L.S.	1	\$35,000.00	\$35,000.00	\$60,000.00	\$60,000.00	\$36,550.00	\$36,550.00
51	8-02	SEEDING AND MULCHING (Upland)	ACRE	0.35	\$5,000.00	\$1,750.00	\$7,200.00	\$2,520.00	\$10,800.00	\$3,780.00
52	8-01	HIGH VISIBILITY SILT FENCE	L.F.	4520	\$5.50	\$24,860.00	\$5.75	\$25,990.00	\$3.25	\$14,690.00
53	8-01	WATER FOR PLANT ESTABLISHMENT(Minimum Bid of \$100/MGAL)	MGAL	246	\$110.00	\$27,060.00	\$210.00	\$51,660.00	\$108.00	\$26,568.00
54	8-02	TOPSOIL TYPE A	C.Y.	831	\$60.00	\$49,860.00	\$49.00	\$40,719.00	\$46.45	\$38,599.95
55	8-02	PSIPE - TREES, DECIDUOUS, 2-IN CAL, 20-GAL (Prunus)	EACH	33	\$475.00	\$15,675.00	\$295.00	\$9,735.00	\$151.20	\$4,989.60
56	8-02	PSIPE - GROUNDCOVER, 1-GAL, 6-HEIGHT (Arctostaphylos)	EACH	1368	\$9.50	\$12,996.00	\$12.00	\$16,416.00	\$5.40	\$7,387.20
57	8-02	BARK - COMPOST WOOD MULCH	C.Y.	114	\$72.00	\$8,208.00	\$61.00	\$6,954.00	\$59.40	\$6,771.60
58	8-02	ROOT BARRIER	L.F.	1056	\$25.00	\$26,400.00	\$16.00	\$16,896.00	\$15.10	\$15,945.60
59	8-04	CEMENT CONC. TRAFFIC CURB AND GUTTER	L.F.	6350	\$40.00	\$254,000.00	\$26.12	\$165,862.00	\$43.75	\$277,812.50
60	8-04	CEMENT CONC. PEDESTRIAN CURB	L.F.	1290	\$38.00	\$49,020.00	\$26.05	\$33,604.50	\$76.95	\$99,265.50
61	8-06	CEMENT CONC. APPROACH	S.Y.	302	\$105.00	\$31,710.00	\$90.45	\$27,315.90	\$228.15	\$68,901.30
62	8-06	COMMERCIAL CEMENT CONC. APPROACH (Detached Sidewalk)	S.Y.	448	\$120.00	\$53,760.00	\$129.96	\$58,222.08	\$202.85	\$90,876.80
63	8-06	DRIVEWAY CONSTRUCTION TYPE HMA	S.Y.	452	\$80.00	\$36,160.00	\$55.49	\$25,081.48	\$93.85	\$42,420.20
64	8-06	DRIVEWAY CONSTRUCTION TYPE CONCRETE	S.Y.	48	\$105.00	\$5,040.00	\$91.17	\$4,376.16	\$456.65	\$21,919.20
65	8-06	DRIVEWAY CONSTRUCTION TYPE GRAVEL	S.Y.	93	\$20.00	\$1,860.00	\$19.50	\$1,813.50	\$106.65	\$9,918.45
66	8-09	RAISED PAVEMENT MARKER TYPE 2	HUND	1	\$3,200.00	\$3,200.00	\$850.00	\$850.00	\$918.00	\$918.00
67	8-10	TUBULAR MARKER	EACH	6	\$180.00	\$1,080.00	\$425.00	\$2,550.00	\$459.00	\$2,754.00
68	8-12	TEMPORARY CHAIN LINK FENCE	L.F.	750	\$11.00	\$8,250.00	\$10.50	\$7,875.00	\$16.20	\$12,150.00
69	8-13	ADJUST MONUMENT CASE AND COVER	EACH	2	\$300.00	\$600.00	\$700.00	\$1,400.00	\$890.00	\$1,780.00
70	8-14	CEMENT CONC. SIDEWALK	S.Y.	3170	\$80.00	\$253,600.00	\$57.60	\$182,592.00	\$123.75	\$392,287.50
71	8-14	CEMENT CONC. CURB RAMP	S.Y.	480	\$100.00	\$48,000.00	\$200.25	\$96,120.00	\$186.20	\$89,376.00
72	8-14	DETECTABLE WARNING SURFACE	S.F.	20	\$25.00	\$500.00	\$30.00	\$600.00	\$78.30	\$1,566.00
73	8-18	MAILBOX SUPPORT, TYPE 1	EACH	7	\$500.00	\$3,500.00	\$550.00	\$3,850.00	\$1,100.00	\$7,700.00
74	8-18	MAILBOX SUPPORT, TYPE 2	EACH	1	\$800.00	\$800.00	\$1,575.00	\$1,575.00	\$1,300.00	\$1,300.00
75	8-18	MAILBOX SUPPORT, TYPE CMU	EACH	2	\$5,200.00	\$10,400.00	\$1,575.00	\$3,150.00	\$1,620.00	\$3,240.00
76	8-20	ILLUMINATION SYSTEM	L.S.	1	\$55,000.00	\$55,000.00	\$6,000.00	\$6,000.00	\$6,480.00	\$6,480.00
77	8-20	INTERCONNECT SYSTEM	L.S.	1	\$190,000.00	\$190,000.00	\$170,000.00	\$170,000.00	\$183,600.00	\$183,600.00
78	8-20	ITS SYSTEM (RRFB'S)	L.S.	1	\$100,000.00	\$100,000.00	\$106,000.00	\$106,000.00	\$114,480.00	\$114,480.00
79	8-20	TRAFFIC SIGNAL SYSTEM (NE 152ND AVE AT NE 99TH ST)	L.S.	1	\$580,000.00	\$580,000.00	\$758,000.00	\$758,000.00	\$818,640.00	\$818,640.00
80	8-20	TRAFFIC SIGNAL SYSTEM LOOP REPLACEMENT	L.S.	1	\$2,200.00	\$2,200.00	\$4,000.00	\$4,000.00	\$4,320.00	\$4,320.00

BIDDER #7 BIDDER #6 **BIDDER #8** Project Name: NE 152nd Avenue (Padden Parkway - NE 99th Street) Pivetta Brothers Construction **Colf Construction LLC Kerr Contractors Oregon LLC** Project Number: PRJ0000586 (CRP 301022) 395 Shenandoah Lane 1812 Pease Ave PO Box 1434 Bid Opening Date: September 23, 2025 Woodburn, OR 97071 **Sumner, WA 98390** Vancouver, WA 98668 971-216-0050 253-753-0757 360-949-6719 **BID ITEM** SPEC. **TOTAL PRICE** DESCRIPTION UNIT **QUANTITY UNIT PRICE TOTAL PRICE UNIT PRICE TOTAL PRICE UNIT PRICE** NO. SECTION PERMANENT SIGNING \$55,000.00 \$48,400.00 L.S. \$55,000.0 \$48,400.0 \$29,000.00 \$29,000.00 L.F. 82 8-22 PAINT LINE 5000 \$7,500.00 \$0.48 \$2,400.0 \$0.52 \$2,600.00 \$1.50 83 PAINTED WIDE LANE LINE L.F. 10000 \$2.00 \$20,000.00 \$0.65 \$6,500.00 \$0.70 \$7,000.00 8-22 PLASTIC STOP LINE 200 \$28.00 \$5,600.00 \$35.00 \$7,000.00 \$37.80 \$7,560.00 84 8-22 L.F. 85 PLASTIC CROSSWALK LINE S.F. 250 8-22 \$18.00 \$4,500.00 \$18.50 \$4,625.00 \$20.00 \$5,000.00 86 PLASTIC TRAFFIC ARROW **EACH** 12 \$465.00 \$5,580.00 \$400.00 \$4,800.0 \$432.00 \$5,184.00 8-22 87 PLASTIC BICYCLE LANE SYMBOL **EACH** 30 \$410.00 \$12,300.00 \$400.00 \$12,000.00 \$432.00 \$12,960.00 8-22 88 TEMPORARY PAVEMENT MARKINGS L.F. 10000 \$0.50 \$0.55 8-23 \$0.90 \$9,000.00 \$5,000.00 \$5,500.00 89 L.S. \$38,500.00 8.00 FIELD OFFICE BUILDING \$15,000.00 \$15,000.00 \$38,500.0 \$35,100.00 \$35,100.00 **SCHEDULE A TOTAL** \$7,602,178.00 \$8,899,981. \$9,061,401.85 SCHEDULE B - County Work in WSDOT ROW MOBILIZATION 90 1-09.7 L.S. \$2,000.00 \$2,000.00 \$500.00 \$500.00 \$6,000.00 \$6,000.00 TRAINING HOUR 20 \$63.00 \$1,260.00 \$27.00 \$540.00 91 1-07.11 \$1.00 \$20.00 REIMBURSEMENT FOR THIRD PARTY DAMAGE EST. \$5.00 \$5.00 \$5.00 \$5.00 \$5.00 \$5.00 92 1-07 93 TRAFFIC CONTROL SUPERVISOR L.S. \$7,000.00 \$7,000.00 \$1,000.00 \$1,000.00 \$2,955.00 \$2,955.00 1-10 FLAGGERS (Minimum Bid of \$40.00 per Hour) 94 HOUR 60 \$100.00 \$6,000.00 \$101.00 \$6,060.00 \$71.00 \$4,260.00 1-10 95 1-10 OTHER TRAFFIC CONTROL LABOR HOUR \$105.00 \$840.00 \$84.00 \$672.00 \$83.00 \$664.00 96 OTHER TEMPORARY TRAFFIC CONTROL DEVICES L.S. \$2,500.00 \$500.00 \$1,100.00 1-10 1 \$2,500.00 \$500.00 \$1,100.00 97 WORK ZONE SAFETY CONTINGENCY EST. \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.0 \$1,000.00 \$1,000.00 1-10 98 INTERCONNECT SYSTEM \$8,000.00 \$21,000.00 \$21,000.0 \$22,680.00 \$22,680.00 8-20 L.S. \$8,000.00 SCHEDULE B SUBTOTAL \$28,605.00 \$30,757.00 \$39,204.00 **WASHINGTON STATE SALES TAX at 8.50%** \$2,431.43 \$2,614.35 \$3,332.34 **SCHEDULE B TOTAL** \$31,036.43 \$33,371.35 \$42,536.34 SCHEDULE C - City of Vancouver Water Work 1-09 MOBILIZATION \$2,000.00 \$2,000.00 \$500.00 \$500.00 \$18,000.00 \$18,000.00 POTHOLE UTILITIES \$500.00 \$6,000.00 \$500.00 \$6,000.00 \$11,220.00 SPCC PLAN L.S. \$800.00 \$800.00 \$500.00 \$500.00 \$300.00 \$300.00 101 102 1-07 REIMBURSEMENT FOR THIRD PARTY DAMAGE EST. \$5.00 \$5.00 \$5.00 \$5.00 \$5.00 \$5.00 WORK ZONE SAFETY CONTINGENCY \$500.00 \$500.00 \$500.00 \$500.00 \$500.00 103 1-10 EST. \$500.00 TRAFFIC CONTROL SUPERVISOR L.S. \$8,000.00 \$8,000.00 \$1,000.00 \$1,000.00 \$8,855.00 \$8,855.00 104 1-10 FLAGGERS (MINIMUM BID OF \$40.00 PER HOUR) \$100.00 \$7,070.00 105 HOUR 70 \$7,000.00 \$101.00 \$71.00 \$4,970.00 106 1-10 OTHER TRAFFIC CONTROL LABOR HOUR 30 \$105.00 \$3,150.00 \$84.00 \$2,520.00 \$83.00 \$2,490.00 \$3,500.00 \$500.00 \$550.00 107 OTHER TEMPORARY TRAFFIC CONTROL DEVICES L.S. \$3,500.00 \$500.00 \$550.00 SCHEDULE C SUBTOTAL \$30,955.00 \$18,595.00 \$46,890.00 WASHINGTON STATE SALES TAX at 8.50% \$2,631.18 \$1,580.58 \$3,985.65

BIDDER #7 BIDDER #6 **BIDDER #8** Project Name: NE 152nd Avenue (Padden Parkway - NE 99th Street) **Pivetta Brothers Construction Project Number: PRJ0000586 (CRP 301022) Colf Construction LLC Kerr Contractors Oregon LLC** 1812 Pease Ave 395 Shenandoah Lane PO Box 1434 Bid Opening Date: September 23, 2025 Woodburn, OR 97071 **Sumner, WA 98390** Vancouver, WA 98668 253-753-0757 360-949-6719 971-216-0050 SPEC. DESCRIPTION QUANTITY UNIT PRICE **TOTAL PRICE UNIT PRICE TOTAL PRICE UNIT PRICE TOTAL PRICE** SECTION SCHEDULE C TOTAL \$33,586.18 \$20,175.58 \$50,875.65 SCHEDULE D - City of Vancouver Sanitary Work L.S. 1-09 MOBILIZATION \$10,000.00 \$10,000.00 \$500.00 \$500.00 \$11,800.00 \$11,800.00 ONE-YEAR WARRANTY EST. \$9,000.00 \$9,000.00 \$9,000.00 \$9,000.00 \$9,000.00 \$9,000.00 109 1-05 1 1-07 SPCC PLAN L.S. \$800.00 \$500.00 \$300.00 \$800.00 \$500.00 \$300.00 REIMBURSEMENT FOR THIRD PARTY DAMAGE EST. \$5.00 111 1-07 \$5.00 \$5.00 \$5.00 \$5.00 \$5.00 112 1-10 WORK ZONE SAFETY CONTINGENCY EST. \$100.00 \$100.00 \$100.00 \$100.00 \$100.00 \$100.00 1 113 TRAFFIC CONTROL SUPERVISOR L.S. \$7,000.00 \$7,000.00 \$1,000.00 \$1,000.00 \$5,900.00 \$5,900.00 1-10 66 HOUR \$100.00 \$6,600.00 \$101.00 \$6,666.0 \$71.00 \$4,686.00 114 1-10 FLAGGERS (MINIMUM BID OF \$40.00 PER HOUR) HOUR 66 \$105.00 \$6,930.00 \$84.00 \$83.00 \$5,478.00 115 1-10 OTHER TRAFFIC CONTROL LABOR \$5,544.00 OTHER TEMPORARY TRAFFIC CONTROL DEVICES 116 L.S. \$5,500.00 \$5,500.00 \$500.00 \$500.00 \$810.00 \$810.00 1-10

CALC

**EACH** 

**EACH** 

L.F.

L.F.

CY

**EACH** 

L.F.

L.F.

EACH

L.S.

**WASHINGTON STATE SALES TAX at 8.50%** 

% OVER OR UNDER ENGINEERS ESTIMATE

**SCHEDULE D SUBTOTAL** 

SCHEDULE D TOTAL

220

133

8

133

87

-\$1.00

\$3.00

\$5.00

\$55.00

\$75.00

\$70.00

\$480.00

\$8,000.00

\$1,300.00

\$5,300.00

\$5,000.00

-\$1.00

\$5,300.00

\$5,000.00

\$660.00

\$665.00

\$24,200.00

\$10,400.00

\$9,975.00

\$6,090.00

\$960.00

\$8,000.00

\$9,960.64

\$117,184.00

\$127,144.64

\$7,793,945.24

-\$1.00

\$18,500.00

\$3,500.00

\$17.25

\$23.00

\$67.00

\$1,025.00

\$126.00

\$112.00

\$800.00

\$11,250.00

-\$1.00

\$18,500.00

\$3,500.00

\$3,795.00

\$3,059.00

\$29,480.00

\$8,200.00

\$16,758.00

\$9,744.00

\$1,600.00

\$11,250.0

\$129,700.00

\$11,024.50

\$140,724.50

\$9,094,252.55

0.28%

-\$1.00

\$3.25

\$10.80

\$68.10

\$725.00

\$132.55

\$129.25

\$353.25

\$1,875.00

\$8,400.00

\$3,840.00

-\$1.00

\$8,400.00

\$3,840.00

\$715.00

\$1,436.40

\$29,964.00

\$5,800.00

\$17,629.15

\$11,244.75

\$706.50

\$1,875.00

\$119,688.80

\$10,173.54

\$129,862.34

\$9,284,676.18

2.38%

Bids have been reviewed for accuracy, unbalancing of bid items, and tabulations checked.

AGGREGATE COMPLIANCE PRICE ADJUSTMENT

BANK RUN GRAVEL FOR TRENCH BACKFILL

8 IN. PVC SEWER PIPE & BEDDING

48-INCH CORROSION RESISTANT SANITARY MANHOLE LESS THAN 10-FEET

TRENCH EXCAVATION & BACKFILL, LESS THAN 10 FEET DEEP

4-INCH PVC SEWER PVC LATERAL INCLUDING BEDDING AND TEB&C

EROSION CONTROL AND WATER POLLUTION PREVENTION

CONNECT NEW 8-INCH PIPE TO EXISTING MANHOLE (INCL. RE-CHANNEL MANHOLE)

TRENCH SAFETY SYSTEM (TRENCHES LESS THAN 14 FEET DEEP) (MINIMUM BID \$3 PER L.F.)

117

118

119 120

121

122

123

124

125

126

127

3-04

APPX. A

TRENCH DAMS

APPX. A 8-IN X 4-IN PVC WYE

Name:

**TOTAL BID**